
FT300 & FT310 

Backboard Height Adjusters 

 

 
Bill of Materials 
(1) Height adjuster 

(1) Adjustment Handle 

(8) 3/8”x 2” Hex Bolt 
(2) 3/8”x 3 ¼” Hex Bolt 

(20) 3/8” Flatwasher 
(8) 3/8” Lockwasher 

(8) 3/8” Hex Nut 
(2) 3/8” Centerlock Nut  (centerlock nuts have small square indentation on side of nut) 

 

 
INSTALLATION TIPS 

When installing your backboard height adjuster, keep in mind that the 
side with the height sticker is the BACK SIDE of the adjuster.  Install 

the adjuster with the sticker facing AWAY from the basketball court. 
 

IF YOUR BOTTOM TWO RIM BOLTS ARE TOO LONG:  In this bolt 
kit you will find extra rim mounting hardware, (2) 3/8”x 3 ¼” hex 

bolts, (2) 3/8” flatwasher and (2) 3/8” centerlock nut.  This hardware 

will be useful if you find the rim mounting bolts packaged with your 
rim are too long for the bottom two rim attachment points.  Use only 

the centerlock nut on the backside of backboard for tightening bolt (no 
washer on backside of backboard) 

 
IF YOU PURCHASED FT310 HEIGHT ADJUSTER WITH BACKBOARD PAD:  It 

will be necessary to cut the 1” lip off the back side of the backboard 
pad using a box cutter knife. 

 
Adjustment Screw – Make sure to grease the adjustment screw 

before first use.  If adjustment is rough, also check to make sure the 
adjustment screw is running perpendicular to the floor (straight up and 

down).  If not, there is a leveling plate that can be used at the bottom 
of the height adjuster to allow repositioning of the screw. 

 
 


